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AMf2 [E7E B 8/ (37T) 4,579 6,211 7,898 9,642
BMf9 &l B i #8/% (3 7T) 5,877 7,815 9,815 10,548
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AMf2 B2 B EC 8% (3 7T) 1% 2F 3% 4
HAREORERER 4,579 6,211 7,898 9,642
F1FEEHN 4,579 4,579 4,579 4,579
FE2FEEEHN 1,632 1,632 1,632
FEIFEEH 1,687 1,687
FA4EEEH 1,744

AMP2E % 7 Fesg ik (% ~ )3t 8 54 e

KL EaL S o 100,000*3.0%+Eg$ FRAAMPH(TREERATAZEY A LR T * $1.55%)
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AMF2_1:100,000*3%+(97,000%1.05)*1.55%=3,000+1,579=4,579

AMf2_2:((97,000*1.05)-1,579)*1.05*1.55%=100,271*1.05*1.55%=1,632
AMf2_3:((100,271*1.05)-1,632)*1.05*1.55%=103,653*1.05*1.55%=1,687
AMf2_4:(103,653*1.05-1,687)*1.05*1.55%=107,149*1.05*1.55%=1,744
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BMf9 ElE B i A% (3= 71) 1% 2% 3EF 4

HRERI RERER 5.877 7,815 9,815 10,548
F1FEEHR 5,877 2,877 2,877 2,877
F2EEEH 4,938 2,938 2,938
F£3FEEH 4,000 3,000
FAFEER 1733
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BMf9_1:(100,000*1.05)*2.74%+100,000*3%(CDSC)=2,877+3,000=5,877
BMf9_2:((100,000*1.05)-2,877)*1.05%2.74%+100,000*2%(CDSC)=102,123*1.05*2.74%+100,000*2%=2,938+2,000=4,938

BMf9_3:((102,123*1.05)-2,938)*1.05*2.74%+100,000*1%(CDSC)=104,291*1.05*2.74%+100,000*1%=3,000+1,000=4,000
BMf9_4:((104,291*1.05)-3,000)*1.05*1.55%=106,506*1.05*1.55%=1,733
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